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Notation

1.e4 c5 2.5f3 d6 3.d4 cxd4 4.Sxd4 Sf6 5.Sc3 Scé
6.Le3 e5 7.Sb3 Le7 8.f3 0-0 9.Dd2 a5 10.a4 Sb4
11.Sd5 Sfxd5 12.exd5 f5 13.c3 Saé 14.Df2 Lh4 15.g3
f4 16.Ld2 Lg5 17.Ld3 b6 18.h4 fxg3 19.Dxg3 Lf4
20.Dg2 Sc5 21.Sxc5 bxeb 22.0-0-0 Ld7 23.Tdg1 Dfé
24.h5 Lxd2+ 25.Dxd2 Df4 26.h6 g6 27.Dxf4 Txf4
28.Lxg6 hxg6 29.Txgb+ Kh8 30.Txd6 Lxa4 31.Teb Txf3
32.Txeb Tf2 33.d6 Tb8 34.b4 axb4 35.Txc5 b3 36.Kb1
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Ups, spit geworden !!
Hitte lieber friiher.......
2 aufgeben sollen.
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...e8 folgten noch
38 langatmige Ziige
bis zur Aufgabe von Schwarz.
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Hotation

1.d4 5fb 2.g3 eb 3.Lg2 db 4.5f3 Le7 5H.c4 Lb4+ 6.Ld2
Lxd2+ 7.Sbxd2 0-0 8.0-0 cb 9.Dc2 Shd7 10.Tfd1 Te8
11.Tac1 Sf8 12.5eb Sgb 13.5xgb hxgb 14.e4 Th8
15.b3 De7 16.Tel Dd8 17.Tcd1 Db6 18.exd5 exdb
19.Txe8+ Sxe8 20.cxdb cxdb 21.Dch Dxch 22.dxch Leb
23.5f3 Sc7 24.5d4 Ld7 25.b4 ab 26.Lf1 Kf8 27.L.d3

Te8 28.Kg2 Te7 29.Td2 Teb 30.Lc2 ThS 31.h4 Teb
32.Ld3 Te7 33.Le2 Teb 34.Lf3 Lcb 35.5¢2 Sb5 36.Td3

Sc7 37.5d4 5 38.Td2 Kf7 39.Ld1 Te7 40.a4 Teb
41.Kf1 Kf6 42.1b3 Te7 43.Sc2 Te4q 44.1f3 Te7 45.Kf2
Te8 46.5d4 Te7 47.Ld1 Teb 48.Ta2 Te7 49.Le2 Keb
50.Ke3 Kfe+ 51.Kd3 Ked 52.Ld1 Kf6 53.Tb2 Tel
54.Kd2 Tgl 55.b5 axbb 56.axb5 Tg2+ 57.Le2 Le8

58.cHb bxct BERERs)(es)
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Diese jungen Leute
wachsen einem
ganz schon iiber
den Kopf!!
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